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QUESTION 1

What is required to cluster a pair of Fabric Interconnects? 

A. uplink connections to the enterprise network 

B. HXDP 3.5.2 or better 

C. connection between the Fl pair using ports L1 and L2 

D. UCS Manager 2.1 or better 

Correct Answer: C 

 

 

QUESTION 2

Which two processes does Disk Failure initiate? (Choose two) 

A. The affected cluster is marked as unhealthy and placed into standby mode 

B. If the replication factor is sufficient for the failure, the system is marked as unhealthy but remains operational 

C. Distributed pooled data is migrated off nodes to master data store. 

D. Performance is almost unaffected Sets 1-minute timer until self-healing starts. 

E. Self-healing mode is initiated and data replication factors applied. 

Correct Answer: BD 

 

 

QUESTION 3

Which two steps should be performed before installing HyperFlex? (Choose two.) 

A. Determine and download recommended hypervisor 

B. Determine and download recommended VCenter required 

C. Download service profile templates 

D. Determine and download recommended UCS firmware required. 

E. Determine and download virtual machine OS\\' required. 

Correct Answer: AD 
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QUESTION 4

Which two features enable RAID cards striping as well as mirroring and parity? (Choose two.) 

A. Integration with Cisco Intersight for a cloud-based storage management solution. 

B. No load on the system resources, drives seem as one drive to the operating system 

C. On RAID card failure, the RAID onboard concurrent cache assists rebuild cache. 

D. Hot replacement of drives available, depending on configuration 

E. Distributed drives across disparate systems can be in RAID together. 

Correct Answer: BD 

 

 

QUESTION 5

Refer to the exhibit. 

Which VIC model supports two wire connectivity to each Fabric Interconnect? 

A. VIC 1227 

B. VIC 1557 

C. VIC 1387 

D. VIC 1457 

Correct Answer: A 
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